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f' ( Development Policy and the Indian Economy )

Full Marks : 60
Time : 3 hours

margin indicate full marks

The figures, in the
for the quest 1OTLS R <
O
Answer either in English or in Assamese .
"

(a) What was the sex rallo
to 2011 Census/’
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\ffj/ Write one main cause of dadisguised
unemployment in India,
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" Point out one important obj
reforms in India.

(9) Define medium enterprises. £
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2. Answer the following questions - %

(@) What is death rate?
rate of India accordj

‘What was the dea :

ng to 2011 Census?
TI-JITF? 03 57 forgs

] 91 Wi o
\_})}/ Write two Important causes of educated :.
unemployment in India, i
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_ })J**”/Write the importance of industrialization
in the economic development of India.
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4. Answer any three of the ollowing questions :
0x3=30
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(aq) Make an appraisal in the trend of the
growth of per capita income In India

during the plan period. Mention the

Impo t causes of slow gro

capita income In India.
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Government to alleviate poverty. 5+5
ORI WREOH A T Rfen Do R

Important problems that
1S] th of agricultural
[lve measures to

1ty of agriculture In
India.
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